S9

BCY589

BCY58-10

BCY59

BCY59-7

B8CY59-8

BCY59-9

BCY59-10

BCY70

BCY71

BCY71A

BCY72

BF153

BF 160

T0-18 32
TO-18 32
70-18 45
TO-18 45
TO-18 45
TO-18 a5
TO-18 45
TO-18 50
T0O-18 45
TO-18 45
TO-18 25
TO-106 30
TO106 30

32 7 10
32 7 10
a5 7 10
45 7 10
45 7 10
45 7 10
45 7 10
40 5 10
45 5 500
50
45 50
25 5 50
500
12 2 100
12 2 500

IcCES

Ices

ICes

Ices

Ices

ICES

ICES

32 | 40 0.01
250 460 2
160 630 10
60 100

32 | 100 0.01
380 630 2
240 1000 10
60 100

45 | 120 630 2
80 1000 10
40 100

45 | 120 220 2
80 10
40 100

45 | 20 0.01
180 310 2
120 400 10
45 100

59 45 | 40 0.01
250 460 2
160 630 10
60 100

45 | 100 0.01
380 630 2
240 1000 10
60 100

50 | 40 0.1
45 i
50 10
15 50

45 | 40 0.01

40 | 80 0.1
90 1
100 600 10
100 400* 1

40 40 0.01
80 0.1
90 1
00 800 0
100 400° 1

20 | 40 i

25 | so 10

15 | 20 3

15 | 20 3

5 0.35 0.6
5 0.7 0.7%
1 0.55
1

5 0.35 06
5 0.7 0.75
1 0.5
1

5 0.35 0.6
1 07 0.75
1 055
5 0.35 06
1 0.7 0.76
1 0.55
3 0.35 0.6
5 0.7 0.75
1 0.55
1

5 035 0.6
s 0.7 0.7
1 055
1

5 0.3% 06
5 0.7 0.7
1 0.55
1

1 0.25 06
1 05

1

1

1 0.25 0.6
1 05

1

1

10

1 0.25 0.6
3 05

1

1

10

1 0.25

1 05

6 05

10 0.5

085 10 6
1.2 100
07+ 2
085 10 6
1.2 100
07+ 2
085 10 [
1.2 100
07 2
085 10 6
12 100
07 2
085 10 6
1.2 100
07* 2
085 10 6
12 100
07 2
085 10 6
1.2 100
0.7 2
0.9 10 6
1.2 50
0.9 10 6
12 50
9 10 ]
3.2 50
10 6
1.2 50
(CRE)
10 1.2
10 1.7

125

126

125

125

125

125

125

250

200
166

300
15

200

400

10 800
800
6
10 800
800
6
10 800
800
é
10 800
800
6
10 800
800
6
10 800
800
6
10 800
800
6
10 6
420
20 2
0.1
10 2
i}
10 6
420
GT
3 40 df|
Min
10

17 04
15
1
17 04
15
1
17 04
15
1
17 04
15
1
17 04
15
1
17 04
15
1
17 04
i5
1
6 n
17
[ n
6 n
175
6 71
17
43
43

Test Conditions:

1. I = 200 gA, Vg - 5V,
Rg = 2k, f=1kHz,
BW = 200 Hz

2. ic= 200 A, VGg = 5V,
Rg = 2k, WB

3. Ic = 30 uA, Vgg = 5V.

Rs=10kQ, f- 1kHz,
8BW = 200 Hz

4. 1c=20 uA, Vg =5V,
Rg = 10 k€, f = 1 kHz,
BW = 150 Hz

5. Ic =200 uA, Vg = 5V,
RG=2kQ,f=20Hzto
15 kHz

6. (c= 100uA, VCE = 5V,
Rg =2k, f=10Hzt0
10 kHz

7. 1g =50 pA, Vg = 5V,
Rg = 10 kst BW =10 Hz to
15 kM2

8. Ic = 50 kA, VcE = 5V,
Rg = 10k, f= 1kHz,
BW - 200 Hz

9. I¢ = 200 wA, VCE = 2V,
Rg = 2kq, f= 1kHz,
BW = 200 Hz

10. I¢ = 10 uA, VCE -6V,
Rs = 10k, WB

11. Ig = 150 mA, Vgg = 10V,
Ig1 - lgz - 15 mA

12. 1g = 150 mA, 1gq = 1g2
= 75mA

13. ic =10 mA, Ig7 = 3mA,
Ig2=1mA

14 1c = 100 mA, 1gq = 40 mA,

182 =20 mA

16. Vg = 10V, i = 100 mA

'g1=1g2= 10mA

16. (¢ = 150 mA, VgE - 6
Ig1=1g2=15mA

17. Ic =10 mA, Ig1 = 1 mA,
1g2= ~1mA

18. Ic = 300 mA, g1 - 1g2
=30 mA, Vg = 25V

19. Vge = 20V, I = 100 mA
Ig1 = lp2=5mA




